


fely Lift mt mosg
ﬁ Safe Load like the one at the left can sa ; -lm.,l
o Tt bl-l.‘:: ;-:-*::.’:Wl'lj:: wedght of 42 Ih. What is thie maxinmum rlwh";
o :
womcrete blocks thal the elevator can lift!

, L et _
1'\ 7. Writing Explain how solving the equation —§ = 4 is similar 1o and diffeye,,
from solving the inequality —{ > 4,

58. Open-Ended Write four difforcnt incqualities with x = 3 as their solution g,
vou can selve using multiplicaton or division.

Solve cach inequality,

0. 4= -28 ﬁl.j =5 6l 2 < —fx Iﬂ'-.&.lre—u
6L 03y < 27 Gl 04 = =4y 68, =f = 4 ﬁﬁ.i;::-:r.

7. 24 < -§x 68, 0< - Jb o3> -ip 0. ~02m = g,
“rﬁ‘f—“'.;! TLdn =9 TA =35 = =m 'M.i:_a-]

75. Michael solved the incquality —2 > 3 and got 6 < y. Erica solved the same
mequality and got v > 6. Are they both correct? Explain.

6. A friend calls you and asks you o mect at a location 3 miles from ¥our home jy
20 minutes. You set off on vour bicycle after the tebephone call. Write and solve
an inequality to find the average rates in miles per minute you could ride 1o be
at your meeting place within 20 minutes.

77. a. Error Analysis Kia solved — 159 = 135 by adding 15 to each side of the
inequality. What mistake did she make?

b. Kia's solution was q = 150, She checked her work by substituting 150 for q
in the original inequality. Why didnt her check let her know that she had
made a mistake?

¢. Open-Ended Find a number that satisfies Kia's solution but
the original ineg wality

does not satisfy

nge Reasoning Ifa, b, and ¢ are real n Tor which of a s
iy mbsrs, vilues of @ is each

mlft‘{ﬂ.ll'hl:nar{a.
B0. Ifb > e, then ap > g

M. b > ¢, then ab > ag.
SLIfb > ¢ thenl <€




